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Run 6073 quartetwise, posH(O: Beam DH
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Run 6073 quartetwise, asym0Osub: Beam ON

— Laser ON Entries: 100684 Entries: 70489

- Mean: -32.6247 +/- 0.1050 | Mean: -0.9964 +/- 0.0658

~ Laser OFF Std Dev: 33.3068 +/- 0.0742 | Std Dev: 17.4748 +/- 0.0465
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Run 6073 quartetwise, negHO: Beam DIN

N aami_lasl nagHO
— — Laser ON Entries: 100684 Entries: 70489
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-------- Histogram Vars

Positive Hel (ON): 14.423861 +/- 0.002303
Negative Hel (ON): 15.171795 +/- 0.002439
Positive Hel (OFF): 3.337494 +/- 0.001324
Negative Hel (OFF): 3.360310 +/- 0.001331
-------- Sums and Diffs

On Diff: -0.747934 +/- 0.001907

Off Diff: -0.022816 +/- 0.001507
On Sum: 29.595656 +/- 0.004343

Off Sum: 6.697804 +/- 0.002185
-------- Asymmetries
On Asym: -32.663943 +/- -0.083566 (ppt)
Off Asym: -0.996443 +/- -0.065820 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 22.897852 +/- 0.004862
BkSub Asym: -31.667500 +/- 0.106374 (ppt)
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Run 6073 quartetwise, posHO vs time
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Run 6073 quartetwise, asymQ0sub vs time
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Run 6073 quartetwise, negHO vs time
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Run 6073 gquartetwise, bcm vs time
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